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	Fourth Grade Eureka and STAAR Question Analysis

	TEKS 4.2(B) - Represent the value of the digit in whole numbers through 1,000,000,000 and decimals to the hundredths using expanded notation and numerals.
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	TEKS 4.4(A) - Add and subtract whole numbers and decimals to the hundredths place using the standard algorithm.

	[image: ]
	Module 1 Lesson 12 Concept Development
[image: ]
[image: ]
[image: ]

	[image: ]
	Module 1 Lesson 12 Problem Set/Exit Ticket
[image: ]
[image: ]

	[image: ]
	Module 1 End-of-Module Assessment
[image: ]

	[image: ]
	Module 6 Lesson 12 Problem Set
[image: ]

	
	Module 6 Lesson 14 Problem Set
[image: ]
[image: ]
[image: ]
[image: ]

	TEKS 4.2(G) - Relate decimals to fractions that name tenths and hundredths. 
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	TEKS 4.3(D) - Compare two fractions with different numerators and different denominators and represent the comparison using the symbols >,<, =
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	TEKS 4.3(E) - Represent and solve addition and subtraction of fractions with equal denominators using objects and pictorial models that build to the number line and properties of operations. 
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	TEKS 4.4(H) - Solve with fluency one and two step problems involving multiplication and division, including interpreting remainders. 
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	TEKS 4.5(A) - Represent multi-step problems involving the four operations with whole numbers using strip diagrams and equations with a letter standing for the unknown quantity. 
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	Module 1 End of Module Assessment
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	TEKS 4.5(B) - Represent problems using an input output table and numerical expressions to generate a number pattern that follows a given rule representing the relationship of the values in the resulting sequence and their position in the sequence. 
*This standard is not found as a focus standard until Module 7.  Supplemental material may be necessary. 
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	TEKS 4.6(D) - Classify two-dimensional figures based on the presence or absence of parallel or perpendicular lines or the presence or absence of angles of a specified size. 
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	TEKS 4.7(C) - Determine the approximate measure of angles in degrees to the nearest whole numbers using a protractor. 
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	TEKS 4.5(D) - Solve problems related to perimeter and area of rectangles where dimensions are whole numbers. 
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	TEKS 4.8(C) - Solve problems that deal with measurements of length, intervals of time, liquid volumes, mass, and money using addition, subtraction, multiplication, or division as appropriate. 
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	TEKS 4.9(A) - Represent data on a frequency table, dot plot, or stem and leaf plot  marked with whole numbers and fractions. 
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4.2(B) represent the value of the digitin whole numbers through 1,000,000,000 and decimals to the
hundredths using expanded notation and numerals

2022 -Q25
25 Yolanda wrote a number.

« The digit in the millions place is an 8.
* The digit in the thousands place is a 6.
e The digit in the hundredths place is a 2.

Which number could be the number Yolanda wrote?
A 85,346,000.12
B 38,056,000.21
C 58,346,000.12
D 98,674,200.21

*Correct Answer (C )
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Solve the following problem. Use pictures, numbers, or words to show your work.

A rectangular poster is 3 times as long as it is wide. A rectangular banner is 5 times as long as it is wide. Both
the banner and the poster have perimeters of 24 inches. What are the lengths and widths of the poster and
the banner?
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6. Miguel’s uncle makes a wooden border to frame, or go around, a garden plot in a community garden.
The diagram shows the dimensions of the garden plot.

& feet

24 feot

How many feet of wood are needed to completely frame the garden plot?
Record your answer and fill in the bubbles. Be sure to use the correct place value.

e

elelelelelolelelolo
elclelelelelole)

elclelolelolelelolo
elclelelelolelelole
elclelelelelelelelo
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solve problems that deal with measurements of length, intervals of ti id volumes,
:ﬂ?muymadﬁm,:ubﬁm mtllpicﬁtm,onivmtmappm})'"l:eﬁ"I mass.

2022 -Q1

1 Jon put a pie in the oven at 5:15 p.Mm. He took the pie out of the
oven 35 minutes later.

At what time did Jon take the pie out of the oven?
A 5:45p.m.
B 6:50 p.m.
C 5:50 p.M.
D 6:45 p.M.

*Correct Answer (C)
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solve problems that deal with measurements of intervals of time, volumes,
‘ﬁﬂmmmm,m % Wm ass:

2022 - Q23

23 There were 3 quarts of water in a container in a science classroom.
A student poured 1 quart 3 cups of the water into a sink.

What amount of the water in quarts and cups was left in the
container after the student poured some of the water into the sink?

A 4qt3c
B 2qt3c
C 2qtilc
D 1qgtlc

*Comed Answer (D)
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:ﬁqmmmmmm« intervals of time, liquid volumes, mass,
‘money using addition, subtraction, multiplication, or as appropriate

2021 -Q29

29 A customer bought almonds and walnuts at a grocery store.

» The customer bought 1 pound 15 ounces of almonds.
* The customer also bought 3 pounds 4 ounces of walnuts.

What is the total amount of almonds and walnuts in pounds and ounces that the
customer bought?

A 41b3oz

B 5Ib9oz

C 41b11oz

D Sib3oz

*Correct Answer (D)
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4.9(A) represent data on a frequency table, dot plot, or stem-and-leaf plot marked with whole numbers
and fractions.

2022 -Q6

6 The list shows the numbers of books donated to a library on
fourteen days.
0,1,4,4,6,7,8,8,9,12, 12, 16, 16, 17
The librarian made this frequency table to show the data. The
frequency table is not complete.

Books Donated to the
Library Each Day

Number of Number of
Books Days
Oto4 [l
5to 9 M

10 to 14 [l
15 to 19 [l

Which row of the frequency table is incomplete?
F The row showing 0 to 4 books

G The row showing 5 to 9 books

H The row showing 10 to 14 books

J The row showing 15 to 19 books

*Correct Answer (F )
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2022 - Q26

26 The list shows the numbers of points a basketball team scored
during the games the team played last season.

83, 98, 104, 88, 95, 98, 101, 89, 92, 89
The stem and leaf plot also shows these data.

Points Scored

Stem | Leaf
8 3899
9 5 8 8
10 1 4

9|8 means 98 points.

What number goes in the to complete the stem and leaf plot?

Record your answer and fill in the bubbles on your answer
document. Be sure to use the correct place value.

*Correct Answer )
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4.9(A) represent data on a frequency table, dot plot, or stem-and-leaf plot marked with whole numbers
and fractions

© 2021-ai3

13 The list shows the lengths in centimeters of some toy boats. The length of one
toy boat is missing.

5, 5 6 10, 8, 5

The toy boat that still needs to be measured is shown. Use the ruler provided to
measure the length of the toy boat to the nearest centimeter.

Which dot plot represents the lengths of all of the toy boats?

Toy Boats Toy Boats
.

A o o . . C ° o e o o
56 7 8 910 56 7 8 910
Length (centimeters) Length (centimeters)

Toy Boats Toy Boats
. .
. . .

B e o . . D e o . .

<«t—t+—ttt1>
56 78 910 5 6 7 8 910
Length (centimeters) Length (centimeters)

*Correct Answer (D)
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2021 -Q32
32 The list shows the number of points scored by each student playing a math game.
3, 1, 5 0 3 3 3 1 3

Which frequency table represents all of the data in the list?

Math Game Math Game
Number of Number of Number of Number of
Points Students Points Students
0 Il 0 |
F 1 | H 1 II
2 TH 2
3 3 I
4 Il 4
5 Il 5 Il
Math Game Math Game
Number of Number of Number of Number of
Points Students Points Students
0 | [ |
¢ 1 II J 1 Il
2 2
3 11T 3 il
4 4
5 | 5 |

*Conect Answer (J)
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1. a. Onthe place value chart below, label the units, and represent the number 90,523.

b, Write the number in word form.

‘Write the number in expanded notation.
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3. Complete the following chart:

‘Standard Form ‘Word Form Expanded Notation
two thousand, four hundred eighty
(2%10,000) + (4 x 100)
+(8%10)+(2x1)
sixty-four thousand, one hundred six
604,016
1,000,960,060
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4.2(B) represent the value of the digitin whole numbers through 1,000,000,000 and decimals to the
hundredths using expanded notation and numerals

2021-Q3

3 The number of movie tickets sold at a theater last year can be written in
expanded notation, as shown.

(8 x 100,000) + (6 x 1,000)
What is this number written in standard form?
A 860,000
B 86,000

C 806,000
D 8,006,000

*Correct Answer (C)
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Use the place value chart below to complete the following:

a. Label the units on the chart.

b. Write the number (8 x 100,000) + (6 x 1,000) + (3 x 100) + (2 x 1) in the place value chart.

. Write the number in word form.

Write eight million, four hundred forty-three thousand, eleven in expanded notation.
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4.2(B) represent the value of the digitin whole numbers through 1,000,000,000 and decimals to the
hundredths using expanded notation and numerals

2019-Q1

People in the United States drink about 129,600,000 bottles of water each day.
What is the value of the digit 1 in this number?

A 100,000,000
B 100

€ 1,000

D 100,000

*Correct Answer ()





image11.png
. According to the 2010 census, the population of San Jose, CA, was approximately ten times the
amount of people that LSU's stadium could seat. What was the population of San lose in 20107
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4.2(B) represent the value of the digitin whole numbers through 1,000,000,000 and decimals to the
hundredths using expanded notation and numerals

© 2019-a17

Workers at a company fixed 37,015.08 meters of pipe. How is this number
written in expanded notation?

A (3 % 10,000) + (7 x 1,000) + (1 x 100) + (5 x 10) + (8 x 0.1)
B (3 x 10,000) + (7 x 1,000) + (1 x 10) + (5 x 1) + (8 x 0.1)
€ (3 x 1,000) + (7 x 100) + (1 x 10) + (5 x 1) + (8 x 0.01)

D (3 x 10,000) + (7 x 1,000) + (1 x 10) + (5 x 1) + (8 x 0.01)

*Correct Answer (D)





image13.png
3. Norfolk, VA, has a population of 242,628 people. Baltimore, MD, has 376,865 more people than Norfolk.
Charleston, SC, has 496,804 less people than Baltimore.
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. Record each city’s population in numbers, in words, and in expanded notation.
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Problem 2: Say the value of each digit.

T (show the place value chart with the number 378.73.) As with any place value chart, the value of
each digit is determined by the place value unit.
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Say the value of the digit n the hundreds place.
3 hundreds.

Say the value of the digit n the hundredths place.

3 hundredths.

‘These values sound so much alke. Discuss with your partner
how totell them apart.

One s hundreds, and one is hundredths. You have to be.
careful o say th > One s a whole number, a hundred,
and one s a raction, a hundredth. > I easier o see how.
differen the values are when you wite them as numbers
100 3nd 0.01. > There are 100 hundredths in one and

100 ones ina hundred. 100 x 100 i 10,000, There are
10,000 hundredths in a hundred.

‘The digit3 has  greater value in which place?

“The hundreds!

Say the value of the digit n the tens place.

7tens.

Say the value of the igit n the tenths place

7tenths.

‘These values also sound so much aike. Discuss the
difterence with your partner.

Onels tens, and one is tenths. >One s 10, and onels.
atenth. > It's easier to see when you write them as
numbers: 10 and 0.1

“The digit 7 would have agreater value in which place?
The tens!

Say the value of the 8.

8 ones.

EEETE]

T

R

tiess | | o [o] oww | vt

3|7 |37 13

T bt 4 3 hundeadis

3 haadadé + Thens + § 0 4

Repeat this process with §20.37.
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Problem 3: Express a decimal number in decimal and fraction expanded notation.

(3r100) + (1x10) + (s1) + (72%) + (3xia) = 33 2

(3x100) 4 (1x ©) + (@x) + (1x0)) + (3x00) = 37873
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Use the place value chart to answer the following questions. Express the value of the digit in unit form.

hundreds Tens ones [ tenths hundredths
4 1 6 8 3

the hundreds place. It has a value of

b, is in the tens place. It has a value of
3 is in the tenths place. It has a value of
d. the hundredths place. It has a value of

hundreds tens ones 5 tenths hundredths
e in the hundreds place. It has a value of,
£ The digit is in the tens place. It has a value of .
& the tenths place. It has a value of.
h. in the hundredths place. It has a value of
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Wit eoch decnal a5 an equvalent raction. Then, wet ach nmmber i expanded ntaton, sing boh
ecmaland faction notaton. Th s oo has been o or yu.

‘Expanded Notaton

Fracon form Fraction Notation m——

(a0

(1x10)+ (5x1)+(4x0+ 3x001)
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5. Maya puts groceries into bags. The items and their weights in kilograms are given below.

=)

<o ~
Bread Bananas Cheese | Carrots Grapes Eges
025 034 056 L= 56 34
100 10 100
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Write a number sentence using decimals to record the weight in kilograms of the bananas
in expanded form.

Write a number sentence using fractions to record the weight in kilograms of the grapes
in expanded form.
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4.4(A) add and subtract whole numbers and decimals to the hundredths place using the standard
algorithm

2022-Q7
7 There are two hiking trails in a park.

e Trail Y is 2.7 miles long.
e Trail Z is 5.84 miles long.

What is the total length of these two hiking trails?

Record your answer and fill in the bubbles on your answer
document. Be sure to use the correct place value.

*Correct Answer (8.54)
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Problem 1: Solve a multi-step word problem using a strip diagram. s

The city flower shop sold 14,594 pink roses on Valentine’s Day. Pink. :
They sold 7,857 more red roses than pink roses. How many pink e —‘ “e
and red roses did the city flower shop sell altogether on g:—\

Valentine’s Day? Use a strip diagram to show the work. gt 757
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Problem 2: Solve a two-step word problem
answer.

iagram, and assess the reasonableness of the

g a strip

On Saturday, 32,736 more bus tickets were sold than on Sunday. On Sunday, only 17,295 tickets were sold.
How many people bought bus tickets over the weekend? Use a strip diagram to show the work.

g

g e
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Problem 3: Solve a multi-step word problem using a strip diagram, and assess reasonableness.

Last year, Big Bill's Department Store sold many pairs of footwear. 118,214 pairs of boots were sold, 37,092
more pairs of sandals than pairs of boots were sold, and 124,417 more pairs of sneakers than pairs of boots
were sold. How many pairs of footwear were sold last year?

13,24 18,214 195,306

+ 31,09 Ly 24263

P —_— —— 4 (18,24
sondols = 155,306 st 94243 et

\ 516,50

516,251 pairs Of footwear were sold last Year.
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4.4(A) add and subtract whole numbers and decimals to the hundredths place using the standard
algorithm

© 2021-as

4 The list shows the numbers of visitors who arrived and the numbers of visitors
Wwho left a science museum for the first three hours after it opened one day.

* In the first hour, 294 visitors arrived.
+ In the second hour, 408 visitors arrived and 89 visitors left.
'+ In the third hour, 313 visitors arrived and 175 visitors left.

How many visitors were in the science museum after the third hour?

F 457
G 751
H 1,015
3 g0l

*Correct Answer (G)
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2. Raffle tickets were sold for a school fundraiser to parents, teachers, and students. 563 tickets were sold
to teachers. 888 more tickets were sold to students than to teachers. 904 tickets were sold to parents.

About how many tickets were sold to parents, teachers, and students? Round each number to the
nearest hundred to find your estimate.
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Model the problem with a strip diagram. Solve and write your answer as a statement.

In January, Scott earned $8,999. In February, he earned $2,387 more than in January. In March, Scott earned
the same amount as in February. How much did Scott ear altogether during those three months? s your
answer reasonable? Explain.
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4.4(A) add and subtract whole numbers and decimals to the hundredths place using the standard
algorithm

2021 -Q21

21 Lindsey purchased one pet carrier that cost $21.89 and 2 bags of cat food that
cost $16.49 each. What was the total cost of these items?

A $54.87
B $38.38
€ $43.67
D $32.98

*Correct Answer ()
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3. Norfolk, VA, has a population of 242,628 people. Baltimore, MD, has 376,865 more people than Norfolk.
Charleston, SC, has 496,804 less people than Baltimore.

a. What is the total population of all three cities? Draw a strip diagram to model the word problem.
Then, solve the problem.
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4.4(A) add and subtract whole numbers and decimals to the hundredths place using the standard
algorithm

2019-Q20

The owners of a business rented 4,506.23 square feet of space in an office
building. They plan to use 281.6 square feet of the space for the kitchen.

How many square feet of space are left?
F 4,224.63 square feet
G 4,385.43 square feet
H 4,478.07 square feet
3 4,225.17 square feet

*Correct Answer (F)
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4. Inone weekend, Anna hiked 4.02 km in the Wild Basin Wilderness Preserve, and 2.73 km at the Santa
Elena Canyon in Big Bend. How far did Anna hike in that weekend?
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Problem 1

Barrel A contains 2.7 liters of water. Barrel B contains 3.09 liters

of water. Together, how much water do the two barrels

contain?

27 309
| ———7

Solution A

w=27L+309L

=22, .37,
100100

270
+304
579
Solution B
270 22y 520 e, oM
100 100 100
w=571L

The 2 barrels contain 574 Liters of water.
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Problem 2

Alissa ran a distance of 15.8 kilometers one week and 17.34 kilometers the following week. How much further
did she run in the second week compared to the first week?

Ist week 158
2nd week
[——;
17.34
Solution A Solution 8
olution

Solution C
| 15.8 X220 6.0 - 17.0 2220 17.34 e
’ 020+ 1+0.34 =154 1580
154

Mlissa ran 1.54 kilometers more the second week
than the first week.
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Problem 3

An apple orchard sold 140.5 kilograms of apples in the morning and
15.85 kilograms more apples in the afternoon than in the morning.
How many total kilograms of apples were sold that day?

Solution A
s
Solution B Solution D
140.50 v W5 g 140.5 + 140.5 = 281.0
140-50 , 281+1585 = 29685
+1585 ’
29685 P 1405 kg 1585 k4]
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Problem 4.

A team of three ran a relay race. The starter had the slowest time, measuring 31.99 seconds. The middle.
runner's time was 0.9 seconds faster than the starter. The third runner had the best time, which was 1.89
seconds faster than the middle runner’s time. What was the team’s total time for the race?

Solution A
319 Lo 3199
- 040 e 3109
3104 -1 +2920
220 23

Solution B
32+ 32+ 32 = 46 Tris would be the estimated total tims if all unners ran the same fime.

46,00 = 0.03 = 4547 This is the 6xact time of the nunners, i they ran the same time.

04404+ 19 = 364 This is #he amount of $imp the third and middie runners were able to decrease
he fotal.
The team’s total time for the race

a5 - 369 = 228
was 92.28 séconds.




image37.png
4.2(G) relate decimals to fractions that name tenths and hundredths

© 2022-a15

15 What decimal number is equivalent to %?

Record your answer and fill in the bubbles on your answer
document. Be sure to use the correct place value.

*Conmkmﬂ.l)
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1. Decompose each fraction into hundredths using area models. Then, write the equivalent number sentence
using decimals.
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1. Plot the following points on the number line using decimal form.

13 129 102
1one and 1 tenth, {7, 1 one and 20 hundredths, 75, 1.11, 7=
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4.2(G) relate decimals to fractions that name tenths and hundredths

2022 -Q32

32 Which mixed number is equivalent to 17.04?

*Correct Answer (J)
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10. The number line shows how far Mingan rides his bike from school to the library.

School Library
| N T N T T S - I N N S T N - | N T T -
L e B B
0 1 2 3
miles

Which fraction is equivalent to the distance shown on the number line?

8
28
F 100
G 2%
100
H 22
10
12X
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4.2(G) relate decimals to fractions that name tenths and hundredths

© 2021-08

8 Which equation shows a decimal and a fraction that are equivalent?

5
F 235= Z!m

55
G 23.55= 23—10

5
H 23.05 - 233

50
J 235= 23100
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4. Complete the following chart.

Unit Form Fraction | Fraction Expanded Notation | Decimal Expanded Notation | Decimal
Form Form
1tenth
a. | 6hundredths
b. 2Z
10
c 6.34
d (1x10)+(6x 1)+

(5x0.01)
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4.2(G) relate decimals to fractions that name tenths and hundredths

2021-Q30
30 Paul threw a baseball 18.7 meters. Which fraction is equivalent to 18.7?
7
F IBW

18
70
Z
0
187

? Too
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1. Write the following fractions as equivalent decimals. Then,
representation.

a. 2o
10

model each decimal with the given

b.

2
100

37
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4.3(D) compare two fractions with different numerators and different denominators and represent the
comparison using the symbols >, =, or <

© 2022-a13

13 Four people are mowing their lawns. The table shows the fraction
of each lawn that has already been mowed by each person.

Lawns Mowed

Person | Amount of Lawn Already Mowed
Nate i—g
Rudy %
Marc -i—g
Santos %
Which of these people have mowed greater than % of a lawn?

A Nate, Rudy, Marc, and Santos
B Nate and Marc only
C Rudy only

D Santos only

Correct Answer (C )
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5. Lee spent 2 of his allowance on baseball cards. Lee told his mom that he was able to save more than half

of his allowance. Is Lee correct in what he told his mom? Use words and a number line to explain your
thinking.
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3. Henry and James have gardens that are the same size. Two-thirds of Henry's garden is planted in carrots.
James has planted more of his garden in carrots than Henry. Circle the letter(s) of the following fractions
that could represent the amount of James' garden that is planted in carrots. Then explain how you know.

a 4
5
2

b3

c 3
4
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2022-Q22

22 Ms. Panvini gave her students a test with twenty math problems.
The table shows the fraction of correct answers for each of the five
students who finished the test first.

Math Test
Student | Correct Answers
1 3
: | 3
3 i
N
s 3

Which comparison is true?

FTQO-(%
sz«
N%(%
J%<%

*Correct Answer (G )




image50.png
4.

Fill in the circle with <, =, or > to make a true number sentence. Justify each response by drawing a model
(such as an area model or a number line), creating common denominators or numerators, or explaining

a comparison to a benchmark fraction.

o
alo
EYPS

1.3
©ln
Bla

5 12
c = d.
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Butterfly

(inches)

Monarch 3z
8

Milbert’s Tortoiseshell 285
Zebra Swallowtail 2;
Viceroy 2§
8

Postman 33
8

Purple Spotted Swallowtail 2%
2

Juli 32
julia 2
Southern Dogface 2%
1

Tiger Swallowtail 33
4

Regal Fritillary 3=
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e. Compare the wingspan of the Milbert’s Tortoiseshell and the Zebra Swallowtail using >, <, or =.
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2021-Q5

S Which fraction belongs in the D to make this comparison true?

70

Blw N win sl

*Correct Answer (A)
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2. Use a number line to compare the following fractions:

a4 7
3 6
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represent and solve addition and subtraction of fractions with denominators objects
‘models that build to the number line and properties of g:«: S

2022 - Q24

24 A gardener planted 28 bushes in 4 rows. All of the bushes were
either rose bushes or lilac bushes. The shaded parts of the model
represent the lilac bushes.

Which equation shows how to find the fraction of the bushes that
are lilac bushes?

G %+24—8+24—8+% = %
H %+%+%+% ;—g

*Correct Answer (F)
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7. Apizzais divided into 10 equal slices. Alex eats 2 slices, Mia eats 2 slices,
Hasan eats 3 slices, and Marcella eats 1 slice.
How much pizza is left?
A — because o 2,232
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4.3(E) represent and solve addition and subtraction of fractions with equal denominators using objects
and pictorial models that build to the number line and properties of operations

© 2021-a2

2 Kendrick used 4% bags of dirt in a garden of roses and 9% bags of dirtin a

garden of wildflowers. Which equation can be used to find the number of bags of

dirt Kendrick used?

p4,5,9.1 19
8 8 8 8 8
a3 i-g
H%+%=3%

J 4+9+%+%=13%

*Correct Answer )
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3. Decompose the total to subtract the fractions.

&
8

1/°\
5 1

a 32 -3=2845-9
8

@ln
@lo

-3
8

¢ 52-2
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and solve addition and subtraction of fractions with denominators objects
mmmnumnmmdo:‘m &

2021-Q25
25 The shaded parts of the model represent the combined fraction of a small pie that

2

Darrell and Nani ate. Darrell ate 3

of the pie.

What fraction of the pie did Nani eat?

A

ola v olw vlun

*Correct Answer (B)
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4.4(H) solve with fluency one- and two-step problems involving multiplication and division, including
interpreting remainders

2022 -Q11

11 The fourth-grade classes at a school made flowers to decorate the
cafeteria. There are 5 fourth-grade classes at this school.

* To make each flower, 4 sheets of paper were used.
* The classes used a total of 300 sheets of paper.
* Each class made the same number of flowers.

How many flowers did each fourth-grade class make?
A 75

B 15

C 240

D 17

*Correct Answer (B)
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b. 96 pencils come in a box. If 4 teachers share 3 boxes equally, how many pencils does each
teacher receive?
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with and
4.4(H) solve with fluency one- and two-step problems involving multiplication and division, including

© 2022-a30

30 A baker is making cakes. It takes 9 eggs to make each cake. The
baker has 8 cartons of eggs, and each carton contains 12 eggs.

What is the greatest number of cakes the baker can make using
these eggs?

F 10
G 11
H 6
J 13

*Correct Answer (F)
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d. The grocery store has 902 boxes of cereal that will be placed on 7 shelves. If each shelf can hold
the same number of boxes, how many cereal boxes will be on each shelf? Will 7 shelves be enough
to hold all the cereal boxes? Why or why not?
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interpreting remainders

2021 -Q15
15 Meredith had 12 packages of erasers to put into bags.

« Each package had 43 erasers.
* She put 6 erasers into each bag.

What is the greatest number of bags Meredith could have put erasers into?

Record your answer and fill in the bubbles on your answer document. Be sure to
use the correct place value.

*Correct Answer (86)
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c.  Uniforms are sold in boxes of 8. The store’s 127 employees will each be given 3 uniforms.
How many boxes, b, will the store need to order? Explain your thinking with a strip diagram
using b to stand for the unknown.
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solve with fi and involvir and division, i
4.4(H) fluency one- and two-step problems involving multiplication division, including

2021 -Q27

27 There are 20 rows of pumpkins on a farm. There are 6 pumpkins in each row. A
farmer will use 3 trucks to take all of the pumpkins to a market. The farmer will
put the same number of pumpkins in each truck.

How many pumpkins will be in each truck?
A 120

B 40

C 360

D 26

*Correct Answer (B)
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5. 1,188 kilograms of rice are divided into 7 sacks. How many kilograms of rice are in 6 sacks of rice?
How many kilograms of rice remain?
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diagrams and equations with a letter standing for the unknown quantity

2022 -Q14

14 Erin has 12 pictures from a field trip and some pictures from a
vacation. She has twice as many pictures from the vacation as
from the field trip.

Which strip diagram represents p, the total number of pictures Erin

has?
e 12 24
p
G 12 6
p
H 12 12
P
3 12 2
p

*Correct Answer (F)
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6. The Town Day celebration draws a large crowd on Saturday and Sunday. On Saturday, 5,337 people attend
the celebration. Over the two days, 10,148 people attend the celebration.

‘Which diagram can be used to find p, the number of people attending the celebration on Sunday?

F
10,148 5,337
b
~
P
G
10,148
P
5,337
H
10,148 5,337
—_—
P
]
5,337 P

v
10,148
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the four with whole numbers
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2022 - Q28

28 On Thursday 50 books were returned to a library. On Friday 4 times
as many books were returned to the library as books that were
returned on Thursday.

Which set of equations can be used to find b, the total number of
books returned to the library on these two days?

F 50+50 = 100
100x4 = b
G 50+50 = 100
100+4 = b
H 50x4 = 200
200x50 = b
J 50x4 = 200
200+50 = b

*Correct Answer (J )




image71.png
4. The total population for three cities, Aytown, Beeville and Seeburg, is 36,524. Aytown’s population
is 5,417. Beeville has a population of 7,826. Which equation below could be used to find, p, the population
of Seeburg?
A. p=36,524-7,826-5,417
B. p=136,524+7,826+5,417
C. p=7,826-5,417
D. p=7,826+5,417
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2022-Q34

34 The table shows a relationship between the position of a number in
a pattern and its value.

Position | Expression | Value
1 21
2 42
3 63
4 84

Which set of expressions shows how to find the value when given
the position?

Expression Expression
21-20 1x21
F 42 -20 H 2x21
63-20 3x21
84 -20 4x21
Expression Expression
1+20 1x2
G 2+20 J 2x2
3+20 3x2
4+20 4x2

*Correct Answer (H )
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Complete the following conversion tables and write the rule under each table.

a b.
Hours Minutes Davs Holrs
1 1
3 2
6 5
10 7
15 10
The rule for converting hours to minutes and The rule for converting days to hours is

minutes to seconds is
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4.5(B) represent problems using an input-output table and numerical expressions to generate a
nummnmhlwsagmmwmmmemdﬁwvnmnmmmg
sequence and their position in the sequence

2021 -Q34

34 The table shows a relationship between input numbers and output numbers.

Number Machine

Input Output
1 10
2 11
3 12
4 13

Which rule can be used to find the output number when the input number is
given?

F -9
G x 10
H x4

J +9

*Correct Answer (J)
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4.2(B) represent the value of the digit in whole numbers through 1,000,000,000 and decimals to the
hundredths using expanded notation and numerals

2022-Q2

2 A town had three and fourteen-hundredths inches of rain during
June. What is the value of the digit in the tenths place?

F 3
G 0.04
HO

J 0.1

*Correct Answer ()
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4.6(D) classify two-dimensional figures based on the presence or absence of parallel or perpendicular
lines or the presence or absence of angles of a specified size

© 2022-a17

17 Deon sorted figures into groups. The figures shown were sorted
into the same group.

O

Which statement best describes the figures in this group?

A Each figure has only one obtuse angle.
B Each figure has at least one acute angle.
C Each figure has only one pair of parallel sides.

D Each figure has at least one pair of perpendicular sides.

*Correct Answer (D )
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6. Luis draws the figures shown.

4cm

3cm

3cm

4cm

Which statement is NOT a correct way to classify the figures?

F

G
H
J

Each figure has 4 right angles.

Each figure has 2 pairs of parallel sides.

Each figure has 4 sides of the same length.
Each figure has at least 1 pair of parallel sides.

2cm
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4.6(D) classify two-dimensional figures based on the absence of parallel or perpendicular
Mwhmwmdmdrw“ o

2022 -Q31

31 A set of figures is shown.

LA

Which figure has at least one acute angle, right angle, and obtuse
angle?

X Y

A Figure T
B Figure W
C Figure X
D FigureY

*Correct Answer (C )
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Circle the letter of the correct answer.

5. Sofia draws a diagram of a roof in the shape of an obtuse triangle.

Which triangle shows the diagram that Sofia draws?

A B
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4.6(D) classify two-dimensional figures based on the presence or absence of parallel or perpendicular
insorliwpvesumwﬁwmofanyesof:"spedisdm o o

2021-Q33

33 A group of figures is shown.

¥a}

Which list shows all the figures in the group that appear to have at least one right
angle?

T w

A Figures T, W, and Y only
B Figures T, W, and Z only
C Figures T and Z only
D Figures X and Z only

*Correct Answer (B)
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4. Mike drew some two-dimensional figures.
Sketch the figures, and answer each part about the figures that Mike drew.
a. Hedrew a four-sided figure with four right angles. It is 4 cm long and 3 cm wide.
What type of quadrilateral did Mike draw?

How many lines of symmetry does it have?

b. He drew a quadrilateral with four equal sides and no right angles.
What type of quadrilateral did Mike draw?

How many lines of symmetry does it have?
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2022 - Q27

27 Angle TUV is shown on the protractor.

u

What is the measure of angle TUV to the nearest degree?

A 170°
B 60°
C 110°
D 10°

*CnnectAlwwer(B)
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Construct angles that measure the given number of degrees. Draw an arc to indicate the angle that was
measured.

1. 75° 2. 105°

3. 81° 4. 99°
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2. Use your protractor to measure the angle indicated by the arc. Classify each angle as right, acute, or
obtuse. Explain how you know each angle’s classification.
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2021 -Q31

31 Which angle has a measure closest to 45°?

*Comu:t Answer (A)
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Problem 2: Transcribe a number in word form to standard and expanded notation.
Display two hundred seventy thousand, eight hundred fifty.
T Read this number. (Students read.) Tell your partner how
You can match the word form to the standard form.
St Everything you say, you should write in words.
> The comma helps to separate the numbers in the thousands
from the numbers in the hundreds, tens, and ones.
T Write this number in your place value chart. Now, write this number
in expanded notation. Tell your partner the number sentence.

St 2 copies of 100,000 plus 7 copies of 10,000 plus 8 copies of 100 plus 5 copies of 10 equals 270,850.

Repeat with sixty-four thousand, three; three million, one hundred two thousand, eighteen; five billion, two
hundred nine million, eighty thousand.

Problem 3: Convert a number in expanded notation to word and standard form.
Display (7 100,000) + (8 x 1,000) + (S x 100) + (7 x 10) + (3 x 1).

T Read this expression. (Students read.) Use digits to

write this number in your place value chart.
T My sum s 78,573. Compare your sum with mine.

St Your7isin the wrong place. > The value of the 7 is 700,000.
Your 7 has a value of 70,000.

T Read this number in standard form with me.
St Seven hundred eight thousand, five hundred seventy-three.
T Write this number in words. Remember to check for correct use of commas and hyphens.

Repeat with (5 x 100,000) + (3 x 10,000) + (1 x 10) + (3 x 1); (8 x 1,000,000 + (2 x 100,000) + (4 x 1,000)
+(9%1); (6 x 1,000,000,000) + (3 x 100,000,000) + (2 x 1,000,000) + (9 x 10,000) + (1 x 10).
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Use any protractor to measure the angles, and then record the measurements in degrees.

N
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2019 -Q25

What is the measure of angle RST to the nearest degree?

A 40°
B 50°
C 130°
D 80°

*Correct Answer (A)
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FInd the measure of the following angles using a protractor.

a. £FGD:

b. <DGK:

c. £KGN:
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Mike used a protractor to measure ZABC as shown below and said the result was exactly 130°. Do
you agree or disagree? Explain your thinking.

C

00 9% 8
4101
pes 2 L7
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4.5(D) solve problems related to perimeter and area of rectangles where dimensions are whole

2022 -Q10

10 A rectangle has a perimeter of 40 centimeters and an area of
64 square centimeters. Which model could represent this

rectangle?
[ ] 2cm
F 32cm
G 8 cm
8 cm

*Correct Answer (H )

4 cm

16 cm

11 cm

9cm
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4.5(D) solve problems related to perimeter and area of rectangles where dimensions are whole

2022 - Q33

33 A rectangular place mat is 18 inches long and 12 inches wide. What
is the area of this place mat in square inches?

A 216 square inches
B 60 square inches
€ 54 square inches

D 900 square inches

*Correct Answer (A)
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1. Determine the area and perimeter of the rectangle.

8cm

2cm
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5. lLast year, Mr. Petersen’s rectangular garden had a width of 5 meters and an area of 20 square meters. This
year, he wants to make the garden three times as long and two times as wide.

a. Solve for the length of last year’s garden using the area formula. Then, draw and label the
measurements of this year’s garden.

Last Year This Year

20

sm| square
meters

b. How much area for planting will Mr. Petersen have in the new garden?
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4.5(D) solve problems related to perimeter and area of rectangles where dimensions are whole

© 2021-aua

14 The width of a square playground is shown in feet.

20 ft

What is the area of the playground in square feet?
F 40 square feet

G 80 square feet

H 400 square feet

J 220 square feet

*Correct Answer (H)
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4.5(D) solve problems related to perimeter and area of rectangles where dimensions are whole

2021 -Q26
26 Harrison has a rectangular garden in his backyard. The dimensions are shown in
feet.
Garden
30ft
25ft

What is the perimeter of the garden in feet?

Record your answer and fill in the bubbles on your answer document. Be sure to
use the correct place value.

*Correct Answer (110)




